e-10032 1.6 Applications of Linear Equations: Geometry  Supplemental Problems


1. Twice the sum of a number and three is eighteen. What is the number?
2. The sum of twice a number and three is nineteen. What is the number?   
3. Twelve is two more than twice a number. What is the number?

4. If seven is added to twice a number the sum is one hundred one. What is the number?

5. Ten thousand thirty-two is twenty thousand sixty-four subtracted from a number. What is the number?
6. Seven times a number equals that number added to sixty. What is the number?
7. The sum of a number and two hundred two equals the product of that number and four hundred two. What is the number?




8. Twelve times a number equals the sum twice that number and fifty. What is the number?

9. The product of eight and a number equals twice the sum of that number and thirty-six. What is the number?







10. If a number is subtracted from ten thousand thirty two, the difference is ten times the sum of twice that number and nine hundred thirty-six. What is the number?









11. Forty-eight divided by a number is two subtracted from that number. Find the number.










12. If the quotient of one hundred thirty-two and eleven is tripled the result is the sum of three and a number tripled. Find the number.



13. The sum of seventy-two and a number equals the number subtracted from ninety. Find the number.







14. If the sum of a number and 8 is tripled the result is the sum of twenty-four and three times the number. Find the number.





15. The product of a number and three is the half the sum of the number and three hundred. Find the number.







16. The product of a number and four is eighteen divided by one-tenth. Find the number.











17. The sum of a number and itself is ninety subtracted from two hundred seventy. Find the number.








18. One-sixth of a number plus half the number equals the number decreased by one-third of the number. Find the number.





19. One-fourth of a number plus one-half the number equals three halves of the number minus one hundred thirty-five. Find the number.




20. A number divided by twelve added to fifteen equals fifteen subtracted from one-fourth of the number. Find the number.





21. If two tenths of a certain number is three hundred twenty, what is one-fourth of that same certain number?




22. If one-fourth of a certain number is four hundred fifty, what is one-tenth of that same certain number?







23. If a number is added to the cube of three the result is equal to one subtracted from five times the number. Find the number.




24. If a number is subtracted from the cube of four the result is equal to the sum of the square of seven and twice the number. Find the number.

 

25. The product of a number and two cubed equals four cubed divided by the sum of three squared and negative one.







26. The sum of five cubed and twice a number equals the opposite of half the number.










27. If six times a number is subtracted from twelve squared the result is negative twenty-four subtracted from four times the number. Find the number.


28. The sum of a number and four cubed is equal to the sum of the number and eight squared.  








29. Find two consecutive odd integers whose sum is one hundred eighty.


30. Find two consecutive even integers whose sum is twenty-six.

 
31. Find two consecutive odd integers whose sum is ten thousand thirty-two.    

32. Find three consecutive even integers whose sum is ten thousand thirty-two. 

33. Find three consecutive integers whose sum is ten thousand thirty-two.          

34. A straight glass capillary tube has a diameter of 0.003 cm and a length of 180 cm. The tube is sawed into two pieces so that the longer piece is twice as long as the shorter piece. Find the length of each piece.     

35. A new 19-cm pencil has a new eraser that is one-eighteenth the length of the rest of the pencil. How long is the new eraser?

36. A thirty-nine inch wire is cut into four pieces. The second piece is six inches less than twice the first piece. The third piece is as long as the first piece. The fourth piece is as long as the second piece. Find the length of each piece. 
37. A thirty-six foot long 2” by 4” board is cut into two pieces. The length of one of the pieces is four more than three times the length of the other piece. Find the length of the two pieces.

38. A 200-yard bolt of cloth is cut into two sections of unequal length. One section is ten yards less than twice the length of the other section. Find the length of the sections. 

39. A 50 inch board is cut into three pieces so that the 2nd piece is four times as long as the 1st piece and the 3rd piece is five inches longer than the 2nd piece. Find the length of the 3rd piece. 






40. Michael recorded two songs during his 45-minute recording session. He took twice as long to record the 2nd song compared to the 1st song. How long did it take for him to record the 1st song?

41. Emma recorded three songs during her 180-minute recording session. She took thirty minutes more to record the second song than the first, and three times as long to record the third song as the first. How long did she take to record each song?
42. Suppose that the total number of tickets sold at last Thursday’s matinee at the Severance 14 Regal Cinema was one thousand fifty. If there were half as many children’s tickets sold as adult tickets, how many adult tickets were sold for the matinee shows last Thursday? 
43. Suppose that the total number of tickets sold at last Friday’s evening shows at the Severance 14 Regal Cinema was two thousand eight. If the number of adult tickets sold was fifty-eight more than twelve times the number of children’s tickets sold, how many of each type ticket was sold at last Friday’s evening shows?
44. The length of a rectangular yard is 2 less than five times the width. If 44 yards of fencing are required to fence all four sides of the yard, find the length of the yard.
45. The perimeter of Sally’s garden is 60 feet. What is the length of her garden if its width is 10 feet?







Answers: Sec 1.6 10032

1.  n = 6

2.  n = 8

3.  n = 5

4.  n = 47

5.  n = 30096

6.  n = 10

7.  n = 2

8.  n = 5

9.  n = 12

10.  n= 32

11.  n = 8

12.  n = 11

13.  n = 9

14.  n = 16

15.  n = 60

16.  n = 45

17.  n = 90

18.  n = 180

19.  n = 180

20.  n = 180

21.  n = 400

22.  n = 180

23.  n = 7

24.  n = 5

25.  n = 1

26.  n = -50

27.  n = 12

28.  n = 0

29.   89, 91

30.   12, 14

31.   5015, 5017

32.  3342, 3344, 3346

33.  3343, 3344, 3345

34.  Shorter: 60 cm; longer, 120 cm

35.  1 cm

36.  Lengths: 1st piece, 8 ½ in.; 2nd piece, 11 in.; 3rd piece, 8 ½ in.;                                                       and 4th piece, 11 in. 

37.  8 ft., 28 ft.  

38.  70 yd., 130 yd.

39.  25 inches
40.  15 minutes

41.  1st 30 minutes, 2nd 60 minutes, 3rd 90 minutes.

42.  700 adults

43.  150 children’s, 1858 adults

44.  18 yards

45.  20 feet.

























